












































































































If 2 X t i g
Zz Xztiyz

then Zz 2,1 represents the distance between

Zi and z on an Argand diagram

22 uz tigre
Zz Z

r
z x tig

Distance 2 to zz

Jca x ya y 5

Suppose 12 Z r

The locus is a circle centre 2 radius r

Example Draw the locus of 2 2 321 4

Z f 2 34 4

Loci in Argand Diagram
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I Circle Centre
i l l l l re Z t 3c

radius 4

Ex2 Draw 2 z 3 i 5

2 3t4i
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1 I f l I I

Ex3 2 2 34 2 4 Zi

Perpendicular
Bisector
of 2 and Zz

i f I l l l l 7
































If 2 K ti y

the locus of points arg z z D

is a half line from but not including 2

making an angle Q with a line from 2

parallel to x axis

Example Draw locus of

arg z 3 Ai

arg z Itai
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Arguments
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z X

i r i l I i2 it 6


